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10 tHHT 2 1 1 3 4 5 2 1 3 4
20 fE&LET 2 4 3 2 1 3 1 2 3 2
30 @M 3 2 3 4 2 2 2 1 3 3
40 SRET 0 3 1 1 0 1 1 0 1 0
50 KET—T B 2 4 4 5 8 5 4 4 0 3
60 KET=TH 5 2 7 3 2 4 1 1 2 2
70 RET=TH 2 6 8 3 13 2 4 2 6 10
80 AT IEHET 0 1 2 1 1 2 2 1 3 3
90 PN I ET 2 0 1 1 3 1 1 0 6 2
100 b ALET 2 2 1 1 2 3 1 2 2 0
110 T HT 24 12 13 20 16 20 20 16 14 25
120 ¥A;TAHT 7 1 6 5 2 1 6 3 1 1
130 #&FHT 9 8 8 3 7 5 9 2 8 5
140 EAEET 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 5 6 3 2 2 4 8 3 5 5
9999 KB XEt 65 52 61 54 63 58 62 38 57 65
510 AETHT B 9 4 2 9 4 7 2 6 3 2
520 HpEEMT 3 3 2 2 1 1 0 1 3 0
530 /\fEHET 3 3 0 2 0 1 3 2 1 2
540 15 EHT 8 8 7 3 11 10 11 6 5 5
550 FithET 6 4 8 3 4 7 3 2 12 3
560 = ZLHT 0 0 0 1 1 0 2 1 1 0
570 & EHT 0 1 3 1 0 0 0 0 0 2
580 HrhHET 6 1 4 0 0 0 1 2 3 0
590 FriEMT 0 1 1 2 1 0 1 0 0 0
600 ZEARET 8 11 5 9 10 5 10 8 7 5
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630 ¥TERTZTH 0 0 0 1 0 0 0 0 0 0
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1060 F _EHT 11 5 8 9 12 5 6 7 12 6
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1080 & HHET 3 7 10 7 11 9 6 3 4 9
1090 BiEHT 5 4 4 10 7 9 8 8 9 5
1100 £ B &HT 3 8 4 8 8 5 9 5 5 8
1110 $Z1EHET 1 4 4 1 3 0 2 1 1 2
1120 #21E JTHT 0 0 0 0 1 1 2 0 1 1
1130 +5:HT 0 0 1 0 0 0 0 0 0 0
1140 FkJR=HET 0 0 1 0 1 0 0 0 0 0
1150 #JRET—TH 2 2 3 1 2 4 2 4 3 2
1160 #/RET—T B 7 3 3 5 3 1 2 2 3 4
1170 ;5 /KHET 4 0 1 3 2 6 0 2 4 2
1180 EE&FLHET 2 3 3 1 4 4 6 0 4 2
1190 ¥ F AHET 5 0 3 5 2 4 5 1 0 2
1200 XFHEI—TH 2 2 2 3 1 4 2 0 3 1
1210 XFHEIZTH 1 0 2 4 0 0 3 3 3 2
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1530 HEHNSTHT 5 7 1 0 3 7 7 4 3 4
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2570 K EHT 0 1 0 0 2 0 1 0 0 0
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3010 KATHT 14 12 7 17 15 8 12 11 10 14
3020 ;@I HT 17 15 14 14 14 22 13 14 21 7
3030 L EFET 14 15 20 12 9 9 16 11 12 14
3040 B _EAT 0 1 2 3 3 1 3 2 0 2
3050 wy BRI A AT 34 27 34 27 29 26 37 25 49 32
3060 THESTHT 5 6 5 10 7 7 3 7 6 4
3070 tHBREHT 3 6 4 8 7 9 5 7 10 7
3080 H AT 8 8 11 2 5 5 5 1 5 10
3090 FH R ERAT 6 9 6 8 5 0 6 3 4 4
3100 HHFHHET 6 9 7 6 7 5 10 8 7 9
3110 EHAILHET 8 4 6 5 4 7 6 4 10 7
9999 J\ T X &t 115 112 116 112 105 99 116 93 134 110
3510 £ R _EHT 4 1 1 0 2 3 3 1 2 10
3520 2R T 7 1 5 7 3 4 6 6 6 3
3530 2R THT 11 16 13 19 14 11 10 12 12 18
3540 Z= B KHT 5 3 5 9 4 6 7 1 10 4
3550 AEFHT 10 7 9 5 7 9 7 10 13 9
3560 &= T ERAT 9 1 2 3 3 7 2 5 3 1
3570 = T AT 9 16 9 13 13 15 12 12 11 12
3580 FLIFTHT 11 8 7 7 10 4 6 6 5 8
3590 ;EMT 1 0 0 0 0 0 0 0 0 0
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1260 B & 2 0 0 0 1 1 1 2 0 2
1270 EEHT 1 4 4 1 0 1 0 3 1 3
1280 R4 HT 3 2 2 0 1 2 0 2 2 2
1290 £RHT 2 2 0 1 4 1 6 1 5 3
1300 % ZEHT 0 2 1 1 3 2 0 1 2 0
1310 RJLHT 1 2 2 3 3 2 2 2 2 1
9999 XHEMX &t 96 128 90 107 114 99 93 105 109 112
1510 #EHN BT 7 12 10 4 1 11 8 13 9 8
1520 HEHITET 7 5 16 14 10 11 12 11 8 10
1530 HEHNSTHT 3 3 5 5 5 3 13 3 4 6
1540 K123FHT 10 6 6 12 5 9 8 5 6 15
9999 HEMNI X ET 27 26 37 35 31 34 41 32 27 39
2010 = S5 HET 1 2 2 2 4 1 0 4 4 1
2020 % &7 0 6 3 2 5 4 6 3 3 3
2030 ET 0 0 0 0 0 2 2 2 1 0
2040 JET—TH 2 2 3 2 2 2 2 1 0 2
2050 ;MET=T H 1 0 3 3 0 1 3 4 4 2
2060 ¥5 i HET 1 0 2 0 1 0 3 0 2 2
2070 +RET—TH 1 3 4 5 4 5 4 4 6 2
2080 +RETZ_TH 0 3 5 4 2 2 2 3 4 1
2090 wy g ET 16 24 24 24 21 21 26 26 32 30
2100 HibHET 6 4 1 2 3 2 0 6 8 2
2110 HEMNETET—T B 6 2 3 3 2 6 0 1 5 6
2120 HEWIETET—T B 7 4 3 0 4 8 5 4 8 6
9999 EEXRXET 41 50 53 47 48 54 53 58 77 57
2510 $AUEHET 23 32 26 19 36 37 25 18 25 31
2520 SKEEHT 17 16 22 18 25 19 24 25 17 17
2530 = /INERET 3 7 8 10 4 5 4 4 7 6
2540 FHi5HT 4 8 1 5 3 7 5 7 5 7
2550 ;HET 5 1 0 7 4 4 2 5 7 3
2560 = ST 5 7 12 13 13 10 14 13 15 16
2570 K EHT 0 0 0 0 1 2 1 0 0 1
9999 MNEXET 57 71 79 72 86 84 75 72 76 81
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